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SN BY25D
Y RSP (RS D)
chel D=l EE-ED
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
o A2 2,340
- 527 15,000 * 35 * 12 540
- N 10,000 * 155 * 122 1,800
o Zelf EU 250,000 * 7CH * 38 5,250
o =AY BA AQDE
300,000 * 2CH * 28 1,200
o ZAEX 19,000 * 158A = 122 3,420
o 2Dl el 22,000 * 12 264
02 22| 4,140 3,960 180
o H3te3 200,000 * 104 » 122 2,400
o BAL AR FIIRI 120,000 * 122 1,440
o AR LHHE(SR) AY
50,000 * 3% * 2Cf 300
WRES(HZ25 D 169,800 182,500 A 12,700
SHXE 169,800 170,000 A200
SHNE 169,800 170,000 A200
311 RYSBO0IRAe 29,800 30,000 A200
06 JIEFXH 20l X&) & 29,800 30,000 A200
o MYIWEH AAAM N OIX & e
7,450,000 * 43 29,800
601 Xt SR S4E 140,000 140,000 0
06 JIEIZLHXIL 2RS4 &t 140,000 140,000 0
o MR AAAML He RBas
35,000,000 * 43| 140,000
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